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Exercise 246

We  Lollow e pro caciure Lrow  sec. .44,
Ck) We  seek. U, = P(Xr=0 1 %e 1), wolere
T= v 2nzo: Xu=0 v Xu=23%. To -€{\4d U

we  wneed te  solue Fhe syslemns

Uy = 0.\ + O * Ol g
U, = ©.2 + C.l-uy,*+ 0.6"Ug , (l,Lg__'-‘-TP()(T:O\\I(o:Z\\

\'\wc&. 0.4 U2 =0.2 ro.lu, Cuscl cowseqrtu.vﬁrly
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Uy =0\ o Y -+ O.\- K 0.4 *\ L whna'cw

simpuﬁﬂ‘u to 0.6, 20|+ 0.05 +0.025WU,,

" )
omd Fhus  w, F 0.261  (=o0.26083) = 7.

b) U\)Q USe.  cbuious vieoledow

Ny =l r oV, YOV ya
\.ILH \‘\’ O.\ 'V")' (’),é,-\!.)__

so 20
\ll - 23 ? \11.: %-

1) Quarkion is  iucomep ie.



